Hello to all,
I am working on determination of  resistance coefficient Rac/Rdc in two busbars, made of aluminium and copper, carrying AC current in opposite directions (the frequency range is 50/3Hz to 3000Hz). 

My model works excellent when current are in same direction, but I have problem with modeling antiparallel currents in conductors. 
I have used axial symmetry (2D) AC/DC module/quasi static, Magnetic/perpendicular induction current vector potential mode together with /Time harmonic analysis.
In calculation I worked with resistive heating, time average (Qav_emqa) and Total current density, norm (normJ_emqa) as variables. 
Putting in subdomains (busbars) Jez=J01 and  Jez= - J01 (antiparallel currents) the results are completely wrong (the Rac/Rdc coefficient  don’t increases with frequency)

I will be grateful for any idea (how to model currents in opposite directions), you send to me.

Thanks a lot,

Best regards
Karolina

